S1 3rd Level Homework
BODMAS
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Section A (Remember NO workings allowed!)
1. Answer the following questions mentally:
a) What is the next term in this sequence 2, 3, 5, 8…
b) A dress costs £50 however there is a 10% off sale. How much would the dress cost in the sale? 
c) Find  of £305
d) I’m thinking of a number. I half it and then subtract eight. The answer is 2. What was the original number? 
e) Write down 4 3D shapes you know. 

Section B (Remember ALL working must now be shown!)
2. Answer the questions below and then decode the joke. 
	W = 6 + 3 x 5

	A = 32 – 6 x 3


	G = 3 + 8 x 2

	I = 4 + 7 x 3


	O = 4 x 7 + 3

	Q = 10 + 26 ÷ 2


	P = 6 x 5 + 9

	N = 6 + 5 x 9


	S = 16 – 2 x 7

	L = (28 – 8) ÷ 4 + 11


	C = 22 – 5 x 3 + 3

	E = 4²+ 4 x 5


	U = 5 x 7 – 8

	H = 5 + 2³ x 3


	M = 22 – (11 - 4)

	R = 2 x (8 + 5)


	D = 7 x 2 + 4

	T = 14 – 3 x 2




21 29 14 8		29 14 39 39 36 51 36 18		8 31		8 29 36	

39 16 14 51 8 	25 51			8 29 36		15 14 8 29 2	10 16 14 2 2?

25 8 	19 26 36 21		2 23 27 14 26 36		26 31 31 8 2!
Section C (Do not use a calculator!)
3. The Smith family move into their new home and want to re-turf their garden. If grass costs £7 per , how much would it cost to re-turf their garden? 

[image: ]

Kilsyth Academy
image1.emf
 


image2.png




